e B#X FEE

SRSEE KEF2S B2RHKNUKERREIE(0IR)
[E BzEETR] |

EKEHERT HPPE® 150 L=980m MHIHHREBEI 15018 H50x 15 HMRBBIG75 N=1E BKYIBT N=74
[fE EEHA#
El/KEHERT HPPE®75 L=80.0m

MEITER

HIRBBIT 7528 HKIET N=6# [E BrzRESTR
B x 7] = -
. FA/K ST HPPE ¢ 150 L=980m HiVP$100 L=20m HHIFEHBET ¢ 150x 1%
SHNARSEB T ¢ 75 x 15, HKUIET N=7#
%48 HPPE 50 L=5.0m, HiVP 50 L=40m LEIFHEL 450 x 15
b )
(ﬁ%ffﬁ%g% L=850m TIKE L=150m J

F#R (L THHES L=9.0m)

L
X
H
©
)
X
N
i
BARIFE %
(B2 RETR) @
o 2 oSl o
2 BES =G
- XMEEIRFEEIS OV TIEEBE B LRI %1752,
%20 - 1730 IR WHE AT
RaVOU—k
t=10cm Lo
i=1.50%
—_ = q
é 5 ‘ LDJ J) ET)

ARBEE W AR T4 T
TR
I %EQ‘E‘ (HPPE50)
#ﬁé’leirﬁr(HrPrPElr(iO)”‘ T -

WHEHARBN R BZR MK
B i F
BEE%KiE (VP100) i \\\ Q

SEE %300 x 300

Bicl 4 2 [
fE R R
— AIRBE
= I 5 4 03 3% B 1 B
— | mmE
- | mmEmAE TRk A B




SHSEE KEF12E B2RERMRNEKERZEIE(IIR)

+ TEFEGXHPPE ¢ 50)
H=800 S=1:20

EFRF—Z ¢150% ¢ 75

TR (ARE) Vs¥aq k¢ 50(V)

HKAEPT5
WS P75 H=200 + T #rE@XHPPE ¢ 150)
F - LA TEE 5
;hﬁz,_ﬁﬂsmu(v)ms az)s%l:f‘}nf‘ﬂ'%g $100% ¢ 75 ASEEE H-800 =120

(+71.0) REI8 AEI18

BP(¢50) Xk RYR—REY IS —)L )5 ¢ 100
BN F 1800 = (ST (B AT 7 R22) 100 ERL(BEEMETAI)
—

. /
_| 8l e
(+0.0) EP =3 FRERT (TARE)

HO—W) EH BP($75) (+100.0)

/[ (+95.0) ¢ 150
EFLTa1—% ¢ 75X ¢50

©xik20

FHEIHHE $100(V) X 45° X ’ y
HPPE 50 X » X
1 ® " i w ()
DN $20 XX

100 180 100

® &
KRERWHER © ® >
: (+0.0)
BP(¢50) 343 ESERBE 920 ' RYB—FEY TS — L5 6 75
@) 620 (+71.0) ¢ 150 H=800

® ) ® ® @umon SN _EFEZF—X ¢ 150X ¢ 75

HPPE 150 @ @620

BP @

Hig 100

= 40
Hig 100 10 .
ABSTi% N=1x

Ko 10 Do ERZRVP ¢ 100477 N=18FT
FHE(V)G 100 N=1{B
SEY (O X 1m) =4.0m N=21&F
REHEEMN (O x Im)=10m2 N=2[F
EHI (0 x 1m H=1200)=1.2m3 N=2{fF

Dkt 25 HEER(AER) (Ox1.2m)=144m2 N=2F

+ TERE@(HPPE ¢ 75)
AsTE H=800 S=1:20

@ $20

(7 fRiEI8 A{HIH

R T (BEMBET 20>) Jog EET (BEBHET V)

=3 L 1
o PIB [ smmerdmme ] 3
@FEH G20 8 TREBHI(IARE)

@ 620
[©]
No.1

/0750.0)

(10)

(1) OGrobedEHo20

RYA—FEYIr =L EEIH# ¢ 75
OARHS 30 H=800

+ T EFE@XHPPE ¢ 150) ‘ AHEBE G TSP)— (V) x 45°
H=800 S=1:20 XEREELH

| =REEEE |

LATHEL X s
GRE) =
KRS IBBRIC OV TIIEE R LRI R%ET528,

b, BB b A

T 4| s B RN R TR (TR

1.0
10
w LT Wb R AW R BRI

[5¢]  FfAE [[RkEg 2Ry

8
5 AR OARE)

@)

ABSI% N=13t
EEERVP @ 75618 N=18T J—
AHE(V)$T5 N=1E TREE . -
SEH (O X 1m)=4.0m N2 e Bt 75
IIESEEE (O X 1m) =10m2 N=207% N
EEI(Ox 1m H=1200)=12m3 N=2(57F B HERKE TRk A B
HEERE(REIR) (O x1.2m) =144m2 N=287F

100 180 100




[BME - & 2B K]
BKEMBELI HiVPo40 L=90.0m HUIFHBI 650x3E. HAKINEL N=T#

N o $=1:500

4.70

FIBEE KEF125 BZEMRNERKERZEIEFIIX)

VSoaA > +p40

BEH @K

$=1:100 IVP 50 H=0 6
/ HiVPg40 H0.6
2. 40

4

-

&

2HETFEH40x ¢40 (V)

$=1:250

+ THREGXHIVP ¢ 50) + THREQAXHIVP ¢ 40)
A HRIEHE $50x45° (V) H=600
N=2{& = _
s , H=600 4
/] BESRERAE (AsHizEdom) A
VS a4 b p50 Z E
FER A s e | 8
REIBT KFRERR) 100 i =1
— 2 =
= T ] = N e
2 snsRTEED S
g [ rweszomes | 8 8 e
g —\ sl & s v
. BEEmS —
A7 S 600 YU TIEW=150
[@)] el
2
- 600 BRI —b
+12.0 YT b7 LEW=150
+ TEREQRXHIVP ¢ 50)
H=600
TATEBT
RHREDS)
T LRBRT (MIRE) o
TRRET AT S
8
< _\ E
I o)
O
nEFs7
600
REHIVT Y b $50x ¢ 40
o T
ST AT 7 =JL=.
BRCHYG Y kG50F) a7kt | %ﬁﬁﬁx =+ |
2
RBEERANEBE G50x45 = () Wb E&EKRKHFM
A HE 50x45° (V] T F 4 | SHSEE BZzRBRARKEMIEIEIIR)
N=2{&
VSS a4 b ¢100x ¢50 % :@% mE BME - EEER
T 5 & it WHERARHH EEHR
ifi 2 TER REHER
~—— 8P '
o0 i R EIEH
QTS 3 O 3 7




